APPLICATION REVISIONS

t of PCB Piezotronics Inc.

disclosed hereon. Neither
tion thereof will be disclosed to oth

roduc

PCB Plezotronics Inc. claims proprietary ri
witho

the information

rep

NEXT ASS'Y USED ON VAR REV DESCRIPTION ECN DATE | APP’D
A ADD TOP VIEW 11846]5/12/00 pm$ib |
T 16.00+.05
i O
T 6.09+.05
| | | *
_ 17 1T T |
:5 ] LI |
218 Y
B

M3 X 0.5
/ MOUNTING BOLT
MODEL NUMBER 081A95
(2 SUPPLIED)
ELECTRICAL CONNECTORS

3.)
2.)

|
§ I ” »
§ »Xn L Y' "Z" M3 X 05 THREAD
5 AXIS‘\I | AXIS TYP 3 PLACES
3
2 MODEL NUMBER Iy ry 1 R
340A50 RY @\ I/ | Lty
= 10.2 BEREEER
(SUPPLIED) : =11 1
|I ! L e B
21.6 le— 12.7 —
. 18.5
22.2 HEX————1 M3 X 0.5—6g
MOUNTING THREAD
‘ . "~ | TYPICAL 2 PLACES
ADHESIVE MOUNTING / /
BASE (MODEL 080A147) ) . ! 7.0

(SUPPLIED) A =}_\/
| M6 X 0.75—6g

N W FOR CALIBRATION

FOR SEMI—PERMANENT MOUNTING USE QUICK BONDER (080A90) OR EQUIVALENT.

FOR TEMPORARY MOUNTING APPLICATIONS, USE PETRO WAX (MODEL O080A1 09).
APPLY APPROXIMATELY 45 NEWTONS OF FORCE TO TOP OF
ACCELEROMETER CREATING A THIN BUT HOMOGENEOUS LAYER OF WAX.

RECOMMENDED MOUNTING SURFACE SHOULD BE FLAT TO WITHIN 0.08 TIR OVER
$25.0 WITH A O.y FINISH FOR BEST RESULTS.

" UNLESS SPECIFIED TOLERANCES _
L ko m— T 10 AN W2 ]
57+

pEcMALS xx £03  |CHK'D M S!n!a) ENGR‘ 'S
0 £0.13 ApPD | oot | Shako| SALES fcso |5 Pl

3425 WALDEN AVE. DEPEW, NY 14043
(716) 6B4—0001 EMAIL: SALESOPCB.COM

DWG. NO.
e A ™= INSTALLATION DRAWING '°53§g§$- 13365
0.07 - 013 MODEL 340A50

DDO11

REV. B 03/13/98 ACCELEROMETER SCALE: 2 X | SHEET 1 OF 1




